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Time allowed: 10 minutes

Total Marks: 7 marks

Name Class () Date Marks 1]

Experiment |_Measure the volume of objects with regular and irregular shape

Objective:  To find the volume of objects with regular and irregular shape
Apparatus and materials:
Measuting cylinder 1 Thread 1 Cube X 1
Ruler 1 Plasticine 1
Procedures:

PartA: Measure the volume of ohject with regular shape
1. Measure the length of the cube. Record your answer.
Length of cube X ="Width of cube X = Height of cube X = cm

2. Calculate the wolume of cube X in cm®. Show your steps of caleulation

Part B: Measure the volume of object with irregular shape

Fill the rmeasuting cylinder with water to about half full. Resord the volume of water as V1
Volume of water (V1) cm?

Tic the plasticine with the thread. Put it slowly into the measuring cylinder in step 1

™

Record the total welume of the water and the plasticine as V2,

Total volume of water and plasticine(V2) cm?

W

Calculate the wolume of the piece of plasticine in cm®. Show your steps of caleulation.

= Bom B &2 F A0 I B

e (Practical Exam)
PzEIZEE T ERESIEFRI AREBREH -

El:ﬂ' me |:|:|: 1E

FRIRIEERFTH]

BRIt

B [e] AL ET A

-
| Experiment 1 Measure the volume of objects with regular and irregular shape: |
o
Areasto be
£ Criteria— Mark'
assessed
Part A: Measure the volume of ohject with regular shape-
Correct 4 2
|- Correct measurement of length of cube 3 & 1¢ 0
measurement ¢
Clorrect - Correct steps of showing the formula of calculating® = .
< : 14 0
calculations velume of cube 3.+
- Correct calculation of volume of cube X+ 1< 0
Part B: Measure the volume of ohject with irregular shape+
Correct - Correct measurement of volume of water in W1 14 0
measurement <
- Correct measurement of volume of water in W2+ 14 0+
Correct - Correct steps of showing the formula of caleulatings 1 e
- 3
calculations welume of plasticine. (W2-W 1)«
- Correct calculation of volume of plasticine < 1« 01
Total: 17
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J53D Science Practical Examination Mark Sheet

o]

StulentNo.| Set | Pointl | Point2 | Point3 | Peint4 | Points | Points | Point7 | Poimes Practical Mark {20%) Written fsemmert Mark[B0%) | Ovarall Mark
Experiment 1 Measure the volume of ohjects with regular and irregular shape+ 1 3 0 1 0 1 1 1 1 1 5 5a 77
A 2 3 o o o o [ o [ 1 1 19 29
) 2 3 o ) o 1 1 1 [ 1 4 X 47
Areasto he 4 1 1 1 1 1 1 i 1 1 a 42 =]
AT A
o Criteria~ Mark: 5 1 0 i 1 ] 1 1 0 0 3 23 N
assessed
B 1 1 1 1 o 1 o 1 1 B 23 2
Part A: Measure the volume of object with regular shape+ 7 2 1 1 1 1 0 0 1 1 [ 52 74
2 2 1 1 o 1 1 1 1 1 7 50 75
Correct 1 8 3 a o 1 a ) a 1 o 2 46 -
|- Correct measurement of length of cube 2L « 14 0 FF 3 7 7 7 T 7 n 7 7 % G, &
measurement <
11 2 o o 1 a 1 a 1 1 4 g 72
Correct - Correct steps of showing the formula of calculatings 1o e 12 1 1 1 1 . 1 1 0 0 s a0 5
‘ &
calculation® volume of cube 3.+ 13 1 1 1 1 1 1 1 1 1 i 47 74
19 2 o 1 o 1 1 1 1 1 [ 40 61
- Correct calculation of wolume of cube < 1< 0 15 3 1 1 1 1 1 1 1 1 7 s 74
N N N N 16 2 o o 1 a ) 1 1 1 4 32 47
1:_'.art B: Measure the volume of object with irregular shape+ = z : 7 I 7 F 7 1 7 5 = =
ke 1@ 3 1 1 1 1 1 1 1 1 B a3 %%
: 1 1 . 3
Correct Correct measurement of volume of water in V1 < 14 0 = : = - ’ ‘ ! = ‘ = = =
measurement r 20 1 1 o 1 a 1 a 1 1 L 21 a8
i e 21 1 & 0 1 o 1 1 1 1 [ 21 0
- Correct measurement of volume of water in V2 1< <+
22 1 1 1 1 1 1 1 1 1 2 27 (:¥]
Clorrect - Correct steps of showing the formula of calculating , ) = 2 0 ° v ! ! ! L ! 4 39 =
: 2 < 3 it 1 0 24 2 0 i 0 0 1 1 1 1 4 33 4
caloulations volume of plasticine. (WV2-V 1)<
25 2 1 a o a 1 1 1) o 3 38 E1
5 K | s 7 26 i<l 1 a a a 1] a 1) o 1] 22 25
- Correct calculation of wolume of plasticine < 1€ 0
27 3 1 1 1 1 1 a 1 a ] 3] a4
29 1 Z 1 1 1 [ o [ o 4 44 &0
Total: £ 20 1 1 i 1 ] 1 1 1 1 5 a3 7
21 2 o ) o o [ o 1 1 2 29 X
2
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rvation

Conservation [

Intreducticn Show @ Next ©

Birds eat beetles. The graph shows the bird and beetle populations over Which statement is supported by the data in the graph?
aperiod of time.

Bird and beetle populations

=— birds mm beetles O At 5weeks, there are 0 birds.
350
300 (O Atsweeks, there are 0 beetles.
Hi, [am Kim.
x 250
In the next 30 minutes, you will learn how to build a model O At 10 weeks, there will be 50 birds.
to explore how marine species interact and to make S a0 " )
predictions about population sizes! B
F]
First, show me what you already know by answering some g 10 (O There are always more beetles than birds.
questions.
100
Thenwe can learn together.
50
0
0 1 2 £5 4 5
time (weeks)

Conservation Conservation

Show @ @ Next © show @@ @ Next ©
Hawks eat mice. The graph shows the hawk and mice populations over Which section of the graph suggests that the hawk population goes down when there The graph shows the worm and bird populations over a period of time. What is the value of the missing data point?
aperiod of time. are not enough mice to feed all the hawks?

Worm and bird populations
Mice and hawk populations — worms mm birds
— mice mm hawks 2,000 100 QO 38birds
4,000 QO sectiona - 5
3,500 1,600 80 QO sobirds
Section B
3,000 /_ O g 1Am m ©o
o 2,500 I 120 @ 2 Q 1.000birds
3 QO sectionc g 1000 0 8
£ 2000 g 5
3 £ 800 40 2
g 5 g QO 1.000worms
1500 QO sectionD # 600 30
1,000 400 20
200 10
500
I 0 o
o LS ~— g 10 n 30 ) 50
0 150 time (weeks)
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A famous scientist, Robert Hooke, made
advancementsin microscope and observed marry
everyday materids

l

Anobservationwas made onCork $lices, andwas
found thatthere aretmary small “compartments”

l

Unit 2.3 Cells

He proposedthe firstidea of "cell” ]

|

Sincethen, mary scientists have been curious
abouttheideaandhave made numerous
observations of living things {e.g., plantand anirmal
structures) to support or refute the untesed daims

l

ing hypath

|

. ” Theseobservations can serve asan
Observationl: the plants and animal structures

were found made of mary cells

eyidence to propose;
cells asthebasicunits of living things

i

con be

[

Observation?: Cell structures of animal cellsand
plart cellswere different

ded b .
Lol L Drawing of the cells

|

Observation

Observationd:
Cells in different parts of @ living orgarisem could
have differentshapes
AND
Qbsenaation 4.
A cornplere lving orgarisyn cowld be developed
frovw @ cluster of identical cells

Ilaking by
Theseobsersations can serve asan
evidehceto propose:
cellscan differentiate
[becomespecidized)

ervation

Observations: Waking hypoth
Sorwe cells were splitting into two cells frore one cell These obseryations can serve as an
AND

evidence to propose:

Obsenvation & cellscan groveand divide

Sotwe cells in the actively growing parts appear
larger than other cells of the sarme hrpe
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